






(pětihlasé)

Aleluja - verš
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S  + A

Org.





 

Šťa stná- jsi, sva

   
tá

  
- Pan


no


- Ma ri- a,

    
-


ho dna- jsi

  
veš ke- ré

  
- chvá


ly,


-

                         
                 

17

S  + A

Org.





 

ne boť- z Te be- vze

   
šlo

  
- slun


ce


- spra ve- dl- no- sti,

    
-


Kri stus,- náš

  
Bůh.

 

                      


               

9


